Porte - Toole - Aecessories Bulletin

April 20, 1967 Bulletin 67-8P
MOUNTING INSTRUCTIONS FOR CD469
COMBINATION LUGGAGE RACK/SEBAT RAIL
. 1963 to 1966 "B" and "C" Range Machines

Hardware

1/4-28 x 1% Hex Head Cap Screw
1/4-28 Hex Nut

1/4 Lockwasher '
1/4 x 3/4 0D x 5/8 length Spacer
5/16-24 x 3/4 Hex Haad Cap Screw
S/16-24 Hex Nut

5/16 Star Washer -

5/16 x 3/4 x 1/4 length Spacer

HEFMHNDNDNDN

Late 1966 models must use F7850 1ifting handle, The bend en the left side of late -
1966 1if1:ing handles interferes with the left side rail of the Lugga.gc Rack,

- Mount the luggage rack to the frame by attachiig the side rail to the holes in the -
frame just in front of the top shock mounts with the two 1/4-28 x 1% hex head cap
screws, two 1/4-28 hex nuts, two 1/4 lockwashers and two 1/4 x 3/4 OD x 5/8 length
spacers. Thess spacers are placed between the side rails of the luggage rack gand |
the motorcycle frame., Remove the rear bolt of the fender clip that attaches fender
to rear frame, Attach the front cross rail of the rack to the rear bolt hole of
fender clip using 5/16-24 x 3/4 cap screw, 5/16 hex nut, Star washer and 5/16 x 3/4
spacer, Spacer is placed between fender clip and front cross rail,

T UNOTE: C Ween fitting saddlebags to this carrier CD468/B Bracket Set mpst be usq&'
for "B" B'ange and CD46E/C Bracket Set for "C" Range machine,

MOUNTING INSTRUCTIONS FOR CD46GB AND CD4BSC
SADDLE BAG MOUNTING BRACKETS

IIB " REE Ea

Attach lower front to muffier bolt, Attach upper rear to rear hole in side
—y plate of luggage rack,

npn Range

Attach lower front by pillion footrest bolt, Attach upper rear tn rear hole in
side plate of luggage rack, : : - .




